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| Time: 10 Minutes | Paper Math 7 (T-2) | Total Marks: 10 |

|1st Month, 2nd Week, 2nd Dayl Exercise 1.4 Complete

Q.1. Choose the correct options. (0.5x4=2) -/ /.,, & K..,Lo?u/)

m+(u+;j:[m+;)
©)12 L2 4 12 4

10 11 _
(d)(ﬁ+—_2)+_

3 -5
(i) According to commutative property >~ 7 = ?
3 5.
¢ =5 " 7 bl blrest
P B J =2 A 2 =5
@ 7 2 | 573 (@] 2755 @ 377

(ii) Identify the correct commutative property.

-u:)/&t‘l'(f,blf':«dléun

10, 5_ -7, 2 7 .5 _7 .2
=4+ —=—+= —X==—+4+=
(a) 7 =2 10 5 (b) 100 2 10 5
7 .2 2. 17 10,2 -2_7
—+ === —+= X —
(c) 10 5 5 10 (d) 7 5 5 10

4.2),3
(iii) According to associative property | 3 = 5 7 =2

4.2),.3.
¢ = (g * g) e (PSP e

4 2 .3
(a) 5*(?7) ()

3.5 3 4 2 17
(©) (7*5)*2 (d) 5%*5)

(iv) Identify the correct associative property.-q:/‘ﬁilﬁ;:/m;rjww(}

(m+£)+—_3=m+(£+—_3)
@12 —2) 4 12 (2 4

N’

(g+u)+£:m+(g+—_3)
®™\10 2 3 12 =2 4

N’

% Answer the following questions:

ozl W f3ln

Q.2.Verify the distributive properties. (2x2=4) -/ /U’ / L)"'/m el

15, (&
@ 16

ﬁx(&_i):
(i) 6 10 5
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Q.3. Verify the associative properties.

15, =5
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i) (10~ 20
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(2x2=4)
IS et
Q=§+(—_5+Q)
40 20 10 40
Ez—_5+(£+£)
30 10 =20 30



